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1.8 Exponents
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When the base is negative...

Even exponent--> positive answer
Odd exponent--> negative answer
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Ex. 2 Evaluate
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Ex. 3 Write as single power.
a) (2°)( 2%)
b) (5%)(5%)

=<7

c) (-2)5(-2()5'
= Q)

Ex. 4 Write as a single power.
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M
=y
us -2
2y
_—17/3
b) i; 33
3 1 g’
=33 E
4-3

e

February 26, 2024

( Multiplying Powers \
To multiply powers with the

same base, add the exponents.

The Product Rule

ma X mb= ma+b

N _/

\

To divide powers with the same
base, subtract the exponents.

Dividing Powers

The Quotient Rule

m’+mP=m?° mz0
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Ex. 5 Simplify.
a) (22)*
= (22X 2227 7))
— 2424343
- 8 Q”‘\u »
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c) - (5%)?
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- = gé
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changing the base.

axb

~ (m*)’=m

N

- e
+~ Raising a Power to an Exponeh

To raise a power to another exponent,
multiply the exponents without

Power of a Power Rule

_/
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Exponent Laws

@ultiply powers E)ivide powe@ Eower of a pow@

2

2%.2° 25+ 22 (26 )3

_ 3+4 :;2(.,~2 Lx
:28 = Q{g

:27 = 2

E> add exponents I:> subtract exponents E> multiply exponents

Ex. 6 Simplify Keep as a base of 2
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